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Moment
=
force
×
distance from pivot

of a force
to the force

(in Nm)
(in N)
(in metres)

Principle (or law) of moments :
In equilibrium,


anticlockwise moments  =  clockwise moments
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Extension


Sheet





Moments





Example�The diagram shows a�side-view of a trap-door�pivoted at P.�Its weight 50 N acts at�its centre.�What force F is needed�to lift it?





Answer


In equilibrium,


anticlockwise	=	clockwise


	moments	moments 


F	×	0.8 m	=	50 N	×	0.4 m


	F	=	25 N











Questions


For each question show all your working clearly.


In the diagrams the beams are balanced. �Calculate the values of :


weight A, 


weight B.

















For the balanced beams, calculate �the values of : 


weight C, 


weight D.























Calculate the weight of the beam, W :

















The diagram shows a tall crane with a �counter-weight to balance the load. 


Calculate the size of the counter-weight. 


What can you say about the position of �the centre of gravity of the crane?
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